EARAROBREBRT —5 XN—ZXBISH—F 20226658168 (B) 4EIKIR2H

il C 2754 SRR ‘(fﬁl B ‘[%EH%FEEH - | & 13000 B
[xE<%] 1% :300,000H  23&:105000H  3#&:60,000H  43#%&:30,000H  53&:15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
kTS~ t 6 | B 1:25.2 2-2-2-1 | 40.4| - 1 438 | GlER (KR
1155 /7\\.7_ I\Z?J:I. o 54.0 ) @) |EEES
R:r—F7S5v1 B:AY—rYvD BIRET  MEKE
211117y RSvIST o4 | WA 1:(235).7 3334 (39.9| - | 2 | 442 fz%gs\ KR
R:I4 7 RD—LEY BiRky ROVVa ) | Syror—i
ASFIE 1:25.8 6-65-2 [39.4| — | 8 | 417 |HERAD (EE)
FUJRAR—L R L
. 1/2 L
REFRF BARTA Y YIR a2 O 13 ervzo7—0
r—tY hbZ—R N Nl 1( :25.? 7-7-45 |39.4| — | 5 | 497 ,Kggéﬁﬁ (KiR)
. JE BN
RRYNYIYATT BIU—EILR O \gRan t27c77—1
A UZRYSZ 47 g@%ﬁﬁl& 1(:26.)0 4-4-6-6 |39.8| — 6 | 439 Igﬁi (B8ME)
. 3/4 5
RRFAT—VR BOREFTER ®) | 32EF1—97—1
T . w9 | A 1:26.0 8-8-7-7 [39.4| — 3 | 455 | Lo (@)
73V RkNO—X 56.0 15 (g |NERE
RiD—TT4—A B:Fa—=— HBET7—L
<~ ana, = P ARAJEE 1:26.4 1-1-1-3 | #1.8| — 4 468 | BWIE— (KR
EvFyI— LRl A >
: (2172 I _EESTR
RIZIRLLY R Bily RI—F— 0| i
ITAYYML—IN— T (1:31.2) 5-5-8-8 |M.5| - | 7 | 452 ﬁg% GK3R)
. 54 )
RiI— MRS B:PILTFYY—3 SN i S5 Py
@ 11— —BBIEfI
13—7F— 7,5,1,6,3,4,8,2
20—F— 7,5,1,6,3,4,8,2
30—7— 7,5,1,8,4,6,2,3
40—7+— 5,4,7,1,8,6,2,3
o ILRE
B B 5 19| | 94K 1-5 1609 5= 1-5 240 3EE 1-4-5 4,060
7B B 5 100/ 4-5 1,320 ==} 5= 410 3EH 5-1-4 9,190M
1 120/ 1-4 1,930
4 5009

ABIC OV TRUTEREERRODDZE. THRIIZEL.



